



Имя: _____

Дата: _____ Оценка: _____

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right) - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{4}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{3}\right) + \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{5} =$$



Имя: _____

Дата: _____ Оценка: _____

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{5}\right) = \frac{1}{20}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{6} = \frac{119}{750}$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{4}\right) = \left(-\frac{3}{4}\right)$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) = \frac{5}{6}$$

$$\left(-\frac{1}{2}\right) - \frac{3}{4} = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) = 1$$

$$\left(\frac{3}{4}\right) + \frac{1}{2} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) = \frac{32}{45}$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{4} = \frac{29}{100}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{5}{24}\right)$$

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{4}\right) = \frac{31}{108}$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{1}{5}\right)$$

$$\left(\frac{1}{3}\right) + \frac{1}{4} = \frac{7}{12}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{25}$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{4}\right) = \frac{13}{16}$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(-\frac{1}{6}\right) + \frac{1}{2} = \frac{1}{3}$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{5} = \left(-\frac{31}{180}\right)$$